e e L e e — == = = = S ==

{ i‘,‘
x|

e

e — - e

RS SRS

'y mw%mwdz g

this A—m /ﬂ;‘wﬂ’f;
3'0 217(”1) 4 »{‘M\_M%M VAT/’«Z‘S
a““'(ﬂ ﬂ&rw‘\ JWW@M{M

lz““\é'\"’“\mm Gy ﬂﬂ{/x

M%H/Woluw f{%m«/v/m?{ hone Yttt
»t»«}u whiaf aud Af T, j b.e ww@@
44744 “’077% Wv“«-a«/ﬁ eracd b conenf]
Bt oy lrn he %mw Mrﬁ‘»w»w/ ¥
Mo Dnreattrm . Q//\wv " v fjj,wi 2%

/

MM M\. @/%M%

ey A %a&/ﬂw ?/ /lwﬁwf g e i
El Mt o ;A/r 4M7y
O‘VZ\’IM-«/( 25 VT‘ thfz’vm zﬁaf:

howtd A3 atmat Loeils szfmz
%oﬂs Pt MY I“*%/' '

WM%%M

=
T}’

oI

bioL

25

A0

M M/ﬂla’oﬁj




